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MATHS

NCERT - NCERT MATHS (KANNADA ENGLISH)

POLYNOMIALS AND FACTORISATION

1.p(xz) = z + 2. Find p(1), p(2), p( — 1) and p( — 2). Which among

1,2, —1 and — 2becomes the 0 of p(x) ?

o Watch Video Solution

2.Find zero of the polynomialp(z) = 3z + 1

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XNdYQsNs593z
https://dl.doubtnut.com/l/_Al0i2NuidtYh

3. Find zero of the polynomial 2z — 1.

° Watch Video Solution

4. Verify whether 2 and 1 are zeros of the polynomial z*> — 3z + 2 or

not ?

° Watch Video Solution

5.1f 3 is a zero of the polynomial z? + 2z — a, then find a.

o Watch Video Solution

6. Divide 322 + = — 1byx + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_HwptP7wr0nRe
https://dl.doubtnut.com/l/_AFQeH8Smzr66
https://dl.doubtnut.com/l/_kVtY90BmzmWC
https://dl.doubtnut.com/l/_FuvNkZbHK8mz
https://dl.doubtnut.com/l/_uyxWjj8itSCt

7.Divide the polynomial 2zt —4x® — 3z — 1 by (x-1)

° Watch Video Solution

8.Find the remainder when z* + 1 devided by (z + 1)

o Watch Video Solution

9. Check whether (z — 2) is a factor of z* — 22% — 5z + 4

o Watch Video Solution

10. Check whether the polynomial p(y) = 4y® +4y> —y—1 is a

multiple of (2y + 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_uyxWjj8itSCt
https://dl.doubtnut.com/l/_Vp6AtCuJD0Z9
https://dl.doubtnut.com/l/_jGVB7ijbH9h5
https://dl.doubtnut.com/l/_Z9EmgXK5aMDA

11. If the polynomials az® + 3z? — 13 and 2z% — 5z + a arfe divided

by (z — 2) leave the same remainder, find the value of a.

o Watch Video Solution

12. Examine whether z -+ 2 is a factor ofz® 4+ 222 + 3z + 6

° Watch Video Solution

13. Find the Factor Theorem, z + 2 is a factor of > + 2z% + 3z + 6.

° Watch Video Solution

14. Show that (z — 1) is a factor of z!® — 1 and also of z'* — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_w4uRCeDhngOM
https://dl.doubtnut.com/l/_eVZieccG4RBM
https://dl.doubtnut.com/l/_IVpzLY6WbToS
https://dl.doubtnut.com/l/_WzfQdU6d6fAW
https://dl.doubtnut.com/l/_aQq7oIkzORNM

15. Factorise 3z% + 11z + 6

° Watch Video Solution

16. Verify whether 2z* — 62> +3z%> +3z—2 is
z? — 3z + 2ornot ?

How can you verify using Factor Theorem ?

divisible

by

o Watch Video Solution

17. Factorise z° — 2322 + 1422 — 120

o Watch Video Solution

18.Find (2a + 3b + 5)° using identity.

° Watch Video Solution



https://dl.doubtnut.com/l/_aQq7oIkzORNM
https://dl.doubtnut.com/l/_K6KlBFCsAlyx
https://dl.doubtnut.com/l/_gqdC9XNQkmdR
https://dl.doubtnut.com/l/_DNCmNnxD7Ig8

19. Find the product of (52 — y + 2)(bz — y + 2)

o Watch Video Solution

20. Factorise 422 + 9y? + 2522 — 122y — 30yz + 202z

° Watch Video Solution

21. Write the following cubes in the expended from
(i) (2a + 3b)°

(ii) (2p — 5)°

o Watch Video Solution

22, Evaluate each of the following using suitable identities
(i)(103)*

(ii)(99)°


https://dl.doubtnut.com/l/_9zdk4dbyykNs
https://dl.doubtnut.com/l/_tNFY752kMCRm
https://dl.doubtnut.com/l/_uecK5omSkGuX
https://dl.doubtnut.com/l/_FVJUzwwvOtZY

o Watch Video Solution

23. Factorise 8z + 36z%y + 5dxy® + 27y°.

° Watch Video Solution

24.Find the product

(2a + b+ c)(4a® + b* + ¢ — 2ab — bc — 2ca)

o Watch Video Solution

25. Fractorise a® — 8b® — 64¢® — 24abc

° Watch Video Solution



https://dl.doubtnut.com/l/_FVJUzwwvOtZY
https://dl.doubtnut.com/l/_DWYADGMShwWG
https://dl.doubtnut.com/l/_ZyiOWElsbfit
https://dl.doubtnut.com/l/_Jj9GmOPXI0IE

26. Give possible values for length and breadth of the rectangle whose

area is 2z° + 9z — 5.

o Watch Video Solution

1. Find the degree of each of the polynomials given below
(i)z® —z* +3

(iyz> +z — 5

(iii) 5

(iv) 325 + 693 — 7

)4 -y

(vi) 5t — /3

o View Text Solution



https://dl.doubtnut.com/l/_QV8560aDEJoz
https://dl.doubtnut.com/l/_47TMkIxgxFey

2. Which of the following expressions are polynomials in one variable

and which are not ? Give reasons for you answer.

()3z? — 2z + 5
(i) ° + /2
(iii) p* — 3p +q

(iv)y + (y#o)

(V) 5\/§+x\/_

(VI) wlOO + y100

o View Text Solution

3. Write the coefficient of * in each of the following
(i)z® +z +1

(i) 2 — z* + z°

(iii) /223 + 5

(iv) 22° + 5

V) =23 +
533 XI


https://dl.doubtnut.com/l/_UQCIHhTvypsG
https://dl.doubtnut.com/l/_q6EF7Ixp0XFU

2 3

(vi) — gm
(vii) 222 + 5
(viii) 4

o View Text Solution

4. Classify the following as linear, quadratic and cubic polynomials
bz +2— 17

(i) z — z°
(iii) z* + z + 4
(ivie — 1

(v) 3p

(vi) 772

o View Text Solution

5. Write whether the following statements are True or False. Justify

your answer


https://dl.doubtnut.com/l/_q6EF7Ixp0XFU
https://dl.doubtnut.com/l/_7dtqQFTVNMDA
https://dl.doubtnut.com/l/_AjGpIEpYy9Jl

(i) A binomial has two terms

(ii) Every polynomial is a binomial
(iii) A binomial may have degree 3
(iv) Degree of zero polynomial is zero
(v) The degree of 2% + 2zy + y? is 2

2

(vi) rr“ is a monomial.

o View Text Solution

6. Give one example each of a monomial and trinomial of degree 10.

o Watch Video Solution

1. Find the value of the polynomial 422 — 5z + 3, at
()z =0

(i)z = —1


https://dl.doubtnut.com/l/_AjGpIEpYy9Jl
https://dl.doubtnut.com/l/_U2Tl7iTPQT0p
https://dl.doubtnut.com/l/_H8FZIH8Q64M1

(i) z = 2
1

(iv)x = 3

o Watch Video Solution

2.Find p(0)p, (1) and p(2) for each of the following polynomials.
p(z) =2 —z+1

(ip(2) = 2°

(i) p(y) = 2 +y +2y° — 3’

(iii) p(2) = 2°

(iVp(t) = (t-1)(t+1)

V) p(x) = 2 — 3z + 2

o View Text Solution

3. Verify whether the values of x given in each case are the zeroes of

the polynomial or not ?

: 1
pe) =2+ Lz= -3


https://dl.doubtnut.com/l/_H8FZIH8Q64M1
https://dl.doubtnut.com/l/_ENJ2fw1jNqdP
https://dl.doubtnut.com/l/_aIUAeA83aUH9

(i) p(x) = bz —m,z = _73

(i)p(z) =2 — 1L,z = +1

(ivyp(z) =(z —1)(z+2),z2 = — 1,k —2

vi)p(z) = az + b,z = _3

(vii) f(z) = 322 — 1,2 = _%13
P
(viii) f(z) = 2z — T =y

o View Text Solution

4.Find the zero of the polynomial in each of the following cases.
(i) f(z) =& +2

(i) f(z) == — 2

(iii) f(z) = 2z + 3

() f(z) = 2z — 3

Wf(z) = *

(vi) f(z) = pz,p # 0

(vii) f(z) = px + g, p # Opq are real numbers.

[


https://dl.doubtnut.com/l/_aIUAeA83aUH9
https://dl.doubtnut.com/l/_Hc6X6LE40sUH

o View Text Solution

5.If 2 is a zero of the polynomial p(z) = 22® — 3z + 7a, then find the

value of a.

o Watch Video Solution

6. If 0 and 1 are the =zeroes of the polynomial

f(z) = 22® — 3z 4 azx + b, then find the values of a and b.

° Watch Video Solution

1. Find the remainder when z* + 3z 4+ 3z + 1 is divided by the

following Linear polynomials:

iz +1


https://dl.doubtnut.com/l/_Hc6X6LE40sUH
https://dl.doubtnut.com/l/_KA7t4UwGqVm6
https://dl.doubtnut.com/l/_p3FYkKJjGqsv
https://dl.doubtnut.com/l/_DWuHPM4yxFrg

(i) z — 3
(ii) =

(ivye +m

(V)5 + 2z

o View Text Solution

3

2.Find the remainder when 2% — pz? + 62 — pis divided byx — p.

° Watch Video Solution

3. Find the remainder when 222 — 3z + 5 is divided 22 — 3. Does it

exactly divided the polynomial ? State reason.

° Watch Video Solution

2
4.Find the remainder when 923 — 322 4+ = — 5 is divided by z — 3

[ ]


https://dl.doubtnut.com/l/_DWuHPM4yxFrg
https://dl.doubtnut.com/l/_S9z6AflwEamE
https://dl.doubtnut.com/l/_2DbhmMl8eNlb
https://dl.doubtnut.com/l/_Q2c0VQakl01J

[ & Watch Video Solution ]

5. When Polynomial (2m3 + az® + 3z — 5) and (x3 + 2% — 4z — a)

are divisible by x-1 leaves the same remainder find the value of a.

o Watch Video Solution

6. If the polynomials * + az® + 5 and 2 — 2z + a are divided by

(z + 2) leave the same remainder. Find the value of a.

° Watch Video Solution

7. Find the remainder when f(z) = z* — 32> +4 is divided by

g(z) = & — 2 and verify the result by actual division .

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2c0VQakl01J
https://dl.doubtnut.com/l/_eav5cuBD8UiA
https://dl.doubtnut.com/l/_ImEDY73caCvY
https://dl.doubtnut.com/l/_syjMjsGZ84nD

8.Find the remainder when p(z) = z* — 62 4- 14z — 3 is divided b y

g(z) =1 — 2z and verify the result by long division.

o View Text Solution

9.When a polynomial 2z* + 32% + az + bis divided by (z — 2) leaves

remainder 2, and (z + 2) leaves remainder -2. Find a and b.

o View Text Solution

1. Determine which of the following polynomials has (z + 1) as a

factor.

2

Nz —z2>—z+1

(ii)m4—a:3—|—x2—w—|—1


https://dl.doubtnut.com/l/_UvgZk8n3heN6
https://dl.doubtnut.com/l/_V0wC4h6l2WTc
https://dl.doubtnut.com/l/_D0VhH3d3roP3

i)z + 223 + 222 + 2 + 1

vz’ — 2> — (3—3)z ++/3

o View Text Solution

2. Use the Factor Theorem to determine whether g (x) is factor of f(x)

in each of the following cases:

(i) f(z) = 5z® + 2> — bz — 1,9(z) =z + 1
(i) f(z) = 2° + 32> + 3z + 1L, g(z) =z + 1
(i) f(z) = 2° —42* + z +6,g(z) =z — 2
(iv) f(z) = 32> — 20z + 12, g(z) = 32 — 2

(v) f(z) = 4z* + 202® + 33z + 18, g(z) = 2z + 3

o View Text Solution

3. Show that (z —2),(z+3) and (x —4) are factors

% — 322 — 10z + 24.

of

| ° Watch Video Solution


https://dl.doubtnut.com/l/_D0VhH3d3roP3
https://dl.doubtnut.com/l/_TI0DUlJVEWRq
https://dl.doubtnut.com/l/_FGCNwpGCZLcu

4. Show that (z+4),(x—3) and (x —7) are factors of

% — 622 — 19z + 84.

o Watch Video Solution

1
5. If both (z — 2) and <:c — 5) are fractors of pz’5z + r, then

show that p=r.

o Watch Video Solution

6. Factorise (i)z% — 2z% — x + 2
(i)z® — 322 -9z — 5
(i) 23 + 132% + 32z + 20

v)y* +y* —y—1

o View Text Solution



https://dl.doubtnut.com/l/_FGCNwpGCZLcu
https://dl.doubtnut.com/l/_kZAaV9WbAyiA
https://dl.doubtnut.com/l/_JvUOiXFKUJd8
https://dl.doubtnut.com/l/_Z04SPT6C1RLu

7.1f 2> —2 — 6 and x> + 3z — 18 have a common factor (z — a)

then find the value of a.

o Watch Video Solution

8.1f (y — 3) is a factor of y> — 2y® — 9y + 18 then find the other two

factors.

o View Text Solution

1. Use suitable idntities to find the following products
(i) (z + 5)(xz + 2)
(i) (z — 5)(x — 5)

(iii)(3z + 3)(3z — 2)


https://dl.doubtnut.com/l/_Z04SPT6C1RLu
https://dl.doubtnut.com/l/_oZKQubJfX9TO
https://dl.doubtnut.com/l/_QavOCyTfZtCW
https://dl.doubtnut.com/l/_PmyC7hViqq3L

o View Text Solution

2. Evaluate the following products without actual multiplication.

(i) 101 x 99

(i) 999 x 99

(iii) 50 L 49 L
— X —

iii) 50 5

(i1i) 501 x 501

(iv)30.5 x 29.5

o View Text Solution

3. Factorise the following using appropriate identities.
(i) 162° + 24y + 9y

(i) 4y® — 4y + 1

2
(iii) 422 — 32/—5


https://dl.doubtnut.com/l/_PmyC7hViqq3L
https://dl.doubtnut.com/l/_FBnEhWvEAmf1
https://dl.doubtnut.com/l/_yk5VqAEtn29w

(iv) 18a® — 50
(v) 2 + 52 + 6

(vi) 3p> — 24p + 36

o View Text Solution

4. Expand each of the following, using suitable identities
(i) (z + 2y + 42)°
(ii) (2a — 3b)°
(iii) ( — 2a 4 5b — 3¢)®
2
) a b
(iv) (Z -5t 1>

) (p+1)°

2 3
(vi) (x - gy)

o View Text Solution



https://dl.doubtnut.com/l/_yk5VqAEtn29w
https://dl.doubtnut.com/l/_DTO2tBUhlqZo

5. Factories
(1)25x2 4 16y + 42° — 40zy + 16yz — 202

(1)9a® + 4b* + 16¢* 4 12ab — 16bc — 24ca

o Watch Video Solution

6.1fa +b+c =29 and ab+ bc + ca = 26, then find a® + b% + .

o Watch Video Solution

7. Evaluate the following using suitable identites.

(i) (99)°  (4i)(102)*  (i44)(998)°  (iv)(1001)*

o View Text Solution

8. Factorise each of the following

(1)8a® + b* + 12a® + 6ab?


https://dl.doubtnut.com/l/_lbY0aVDvaVz9
https://dl.doubtnut.com/l/_kPStxaiZ14sh
https://dl.doubtnut.com/l/_vwZzFw3WYZHo
https://dl.doubtnut.com/l/_NxxcHmBNwZNb

(ii) 8a® — b® — 12a°b + 6ab’

(iii) 1 — 64a® — 12a + 48a°

12 6 1
. 3 I 2 e
(V) 8" — —=p" + 55p — 752

o View Text Solution

9. Faactorise
(i) 27a® + 64b°

(i) 343y3 — 1000 using the above results.

° View Text Solution

10. Factorise 272> + 3® + 2° — 9zyz using identitiy.

° Watch Video Solution



https://dl.doubtnut.com/l/_NxxcHmBNwZNb
https://dl.doubtnut.com/l/_WgQsqr6vRemq
https://dl.doubtnut.com/l/_Sbo4teb7qFM9

1. Verify that

1
z® +y® + 2 — Bxyz = 5(:c+y+z)[(:c—y)2+(y—z)2+(z—az)2]

o Watch Video Solution

12. Without actual calculating the cubes, find the vlaue of each of the
following

() (—10)° + (7)® + (3)°

(ii) (28)° + (— 15)° + (- 13)°

w(3) - (3 - ()

(iv) (0.2)° — (0.3)* + (0.1)*

o View Text Solution

13. Gi ven possible expressions for the length and breadth of the

rectangle whose area is given by


https://dl.doubtnut.com/l/_MSJkMic862Zo
https://dl.doubtnut.com/l/_KW0eGSdbz8fm
https://dl.doubtnut.com/l/_ufHAbabpDIJ5

(i) 4a® + 4a — 3

(i)25a% — 35a + 12

o View Text Solution

14. What are the possible polynomial expressions for the dimensions
of the cuboids whose volumes are given below ?
(i) 3z° — 122

(i12y? + 8y — 20.

° View Text Solution

15.1f2(a® + %) = (a + b)?, then showthata = b

° Watch Video Solution

Think Discuss And Write



https://dl.doubtnut.com/l/_ufHAbabpDIJ5
https://dl.doubtnut.com/l/_ZknqpZYeXqfa
https://dl.doubtnut.com/l/_UnNf5MzSQhPC
https://dl.doubtnut.com/l/_b1cOtYkqdGbo

1. How many terms a cubic (degree 3) polynomial with one variable can

have ? Give examples.

o Watch Video Solution

2.z + 1 has no real zeroes. Why ?

° Watch Video Solution

3. Can you tell the number of zeroes of a polynomials of n'* degree ?

° Watch Video Solution

1. Write two polynomials with variable 'x'

o Watch Video Solution



https://dl.doubtnut.com/l/_b1cOtYkqdGbo
https://dl.doubtnut.com/l/_OksiKoe1mJB1
https://dl.doubtnut.com/l/_8MwTGMixCtkx
https://dl.doubtnut.com/l/_4p5V9QUDmX2R

2. Write three polynomials with variable 'y’

o Watch Video Solution

3.1s the polynomial 22> + 3zy + 5y in one variable ?

o Watch Video Solution

4. Write the formulae of area and volume of different solid shapes.

Find out the variables and constants in them.

o Watch Video Solution

5. Write the degree of each of the following polynomials

(i) 72> + 522 + 22 — 6


https://dl.doubtnut.com/l/_4p5V9QUDmX2R
https://dl.doubtnut.com/l/_5AIcX6TWd69r
https://dl.doubtnut.com/l/_i4bwokp1LLox
https://dl.doubtnut.com/l/_rakECVc0DT9K
https://dl.doubtnut.com/l/_mCY1dLfFGr3p

(i) 7 — = + 32>

(iii) 5p — /3
(iv) 2
(v) —5zy?

° Watch Video Solution

6. Write the coefficient of z? in each of the following br>
(1)15 — 3z + 222

(i) 1 — z°

(iii) 7z* — 3z + 5

(iv)v/22® + 5z — 1

o Watch Video Solution

7. Find the vaoue of each of the folllowing polynomials for the
indicated value of variables:

(i)p(z) = 42® — 3z + Tatz = 1


https://dl.doubtnut.com/l/_mCY1dLfFGr3p
https://dl.doubtnut.com/l/_OrUOHJnCJEBf
https://dl.doubtnut.com/l/_lvKUOeeH7til

(i) q(y) = 2y* — 4y + 1laty = 1

(i) 7(t) = 4t* +3t> — > + 6att = p,t € R
(iv) s(2) = 2° — latz = 1

) p(z) = 322 + bz — Tatz = 1

(vii) g(z) = 52° — 4z + \/2atz = 2

o Watch Video Solution

8. Find the blanks:

Linear Zero of the polynomial
Polynomial

x+a =
x—a | e

ar

ax—b

o Watch Video Solution



https://dl.doubtnut.com/l/_lvKUOeeH7til
https://dl.doubtnut.com/l/_F7AcsTHIJcVO

9. Divide 3y + 2y + y by 'y’ and write division face

° Watch Video Solution

10. Divide 4p® + 2p + 2 by '2p' and write division fact.

° Watch Video Solution

11. Fractorise the following

(i) 622 + 19z + 15

° Watch Video Solution

12. Fractorise the following 10m? — 31m — 132

° Watch Video Solution



https://dl.doubtnut.com/l/_pUDxyn0jMeoh
https://dl.doubtnut.com/l/_1mUkOE3qx7KS
https://dl.doubtnut.com/l/_7ppN7PSCgeS1
https://dl.doubtnut.com/l/_RMUG4Gf58e3P
https://dl.doubtnut.com/l/_TJHG5SxLyLgZ

13. Fractorise the following 12z* + 11z + 2

° Watch Video Solution

14. Factorise the following using appropriate identities

(1)49a* + 70ab + 25b7

9 , Yy
(i) 1—6:3 — ?
(it — 2t + 1

(iv)z? + 3z + 2

° Watch Video Solution

15. Write (p + 2q + 'r')2 in expanded from.

o Watch Video Solution

16. Expand (4z — 2y — 32)” using identity



https://dl.doubtnut.com/l/_TJHG5SxLyLgZ
https://dl.doubtnut.com/l/_H2AFJw15Qebf
https://dl.doubtnut.com/l/_hcAmJ504ffkv
https://dl.doubtnut.com/l/_Tpqd47tBZgPJ

o Watch Video Solution

17. Fractorise 4a® + b® + ¢® — 4ab + 2bc — 4ca using suitable identity.

o Watch Video Solution

18. Expand (= + 1)° using an identity

° Watch Video Solution

19. Compute (3m — 2n)3

o Watch Video Solution

20. Factorise a® — 3a’b + 3ab®> — b°

o Watch Video Solution



https://dl.doubtnut.com/l/_Tpqd47tBZgPJ
https://dl.doubtnut.com/l/_heNZyf58HA8M
https://dl.doubtnut.com/l/_dInjRz2TJh5t
https://dl.doubtnut.com/l/_6oxnHPBzw2Sz
https://dl.doubtnut.com/l/_6PVPqvfkZqAk

21. Find the proudct (a—b—c)(a®+ b+ c® —ab+ bc— ca)

without actual multiplication.

o Watch Video Solution

22. Fractorise 27a® + b® + 8¢* — 18 — 18 abc using identity.

o Watch Video Solution

1. Write a polynomial with 2 terms in variable x.

° Watch Video Solution

2. Hoe can you write a polynomial with 15 terms in variable p ?


https://dl.doubtnut.com/l/_6PVPqvfkZqAk
https://dl.doubtnut.com/l/_RuMwmPiOuDBM
https://dl.doubtnut.com/l/_y3zN9JOjSpcK
https://dl.doubtnut.com/l/_7CHU78ZATNq1
https://dl.doubtnut.com/l/_L8XKsM8zzy8C

° Watch Video Solution

3. Find zeroes of the following polynomals

(i) 2z — 3
(i)z? — 5z + 6
iz + 5

o Watch Video Solution

4.Show that (z — 1) is a factor of " — 1.

° Watch Video Solution

5. How can you find (z — y)* without actual multiplication?

Verify with actual multiplication.

° Watch Video Solution



https://dl.doubtnut.com/l/_L8XKsM8zzy8C
https://dl.doubtnut.com/l/_gzsG60xg42KP
https://dl.doubtnut.com/l/_phMobosDuUeS
https://dl.doubtnut.com/l/_HeCI7Ic5dfnA




